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Next row: P0 [1: 0: 1], (P2tog) 8 [8: 9: 9] 
times.
Break yarn and thread through rem 8 [9: 9: 10] 
sts. Pull up tight and fasten off securely.

MAKING UP
Press as described on the information page.

29: 37] sts.
Size 6-9 months only
Row 22: Purl.
Row 23: P3, K4, (K2tog) 3 times, K11, (sl 1, 
K1, psso) 3 times, K4, P3. 31 sts.
All sizes
Next row (WS): Purl.
Next row: P3, K1, (K2tog) 9 [10: 11: 12] 
times, P3. 16 [17: 18: 19] sts.

Row 19: P- [3: 3: 3], K- [3: 4: 4], (K- [0: 1: 2], 
K2tog) 3 times, K- [9: 9: 11], (sl 1, K1, psso, 
K- [0: 1: 2]) 3 times, K- [3: 4: 4], P- [3: 3: 3]. 
- [27: 35: 43] sts.
Sizes 3-6 and 6-9 months only
Row 20: Purl.
Row 21: P- [-: 3: 3], K- [-: 4: 4], (K- [-: 0: 1], 
K2tog) 3 times, K- [-: 9: 11], (sl 1, K1, psso, K- 
[-: 0: 1]) 3 times, K- [-: 4: 4], P- [-: 3: 3]. - [-: 

YARN
To �t age 

0-3 3-6 6-9 months

Summerlite 4 ply
A  Washed Linen  418 
 3 4 4 x 50gm
B  Pure White 417 

1 1 1 x 50gm

NEEDLES
1 pair 2¼mm (no 13) (US 1) needles
1 pair 3mm (no 11) (US 2/3) needles

2¼mm (no 13) (US 1) circular needle, at 
least 30 cm long 

BUTTONS 
1 x buttons (12mm).

TENSION 
28 sts and 36 rows to 10 cm measured over 
patt using 3mm (US 2/3) needles. 

christening dress

BACK
Using 2¼mm (US 1) needles and yarn B work 
picot cast-on as folls: cast on 5 sts, cast off 2 sts,
slip st on right needle back onto left needle, 
*cast on 4 sts, cast off 2 sts, slip st on right 
needle back onto left needle, rep from * until 
there are 97 [99: 103] sts on left needle, cast on 
2 sts. 99 [101: 105] sts.
Row 1 (RS): Knit.
Row 2: Knit.
Row 3: K1, *yfwd, sl 1, K1, psso, rep from * 
to end.
Row 4: Purl.
Break off yarn B and join in yarn A. 

Rows 5 and 6: Knit.
These 6 rows complete edging.
Change to 3mm (US 2/3) needles.
Beg and ending rows as indicated and repeating 
the 14 row patt repeat throughout, cont in patt 
from chart as folls:
Dec 1 st at each end of 17th and every foll 8th 
row until 65 [67: 71] sts rem.
Cont straight until back meas 44.5 [46: 47.5] cm, 
ending with RS facing for next row.
Shape armholes
Keeping patt correct, cast off 3 sts at beg of next 
2 rows. 59 [61: 65] sts.
Next row (RS): K3, K2tog, patt to last 5 sts, sl 1, 

K1, psso, K3.
Next row: P2, P2tog tbl, patt to last 4 sts, 
P2tog, P2. 55 [57: 61] sts.
Next row (RS): K3, K2tog, patt to last 5 sts, 
sl 1, K1, psso, K3.
Next row: Patt.
Next row: K2, K2tog, patt to last 4 sts, sl 1, 
K1, psso, K2.
Next row: Patt.
Rep last 4 rows once more. 47 [49: 53] sts.**
Work 0 [2: 4] rows, ending with RS facing for 
next row.
Divide for back opening
Next row (RS): Patt 19 [20: 22] sts, K2tog, 




